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ANSWERSTO ORGANIC PROBLEM SET 3

(8 HOCH,CH,CH,CH,CH; (b) CHj-CH- CH,CH,CH,
1-pentanol |OH 2-pentanol
© CH3CH2—(|:H— CH,CH, (d) HOCH,-CH- CH,CH,
OH  3-pentanol C|IH3 2-methyl-1-butanol
OH OH
© CH3C|ZCH2CH3 (f) CHaCH- |CH(:H3
CH3  2-methyl-2-butanol C|3H3 3-methyl-2-butanol
CHjy
(9) CHS?HCHchon (h) CH3C|ICH20H
CHj3  3-methyl-1-butanol C|:H3 2,2-dimethyl-1-propanol
(@ CH3CH,CH,CH,CHO (b) CH3;CHCH,CHO
pentanal <|3H3 3-methylbutanal
CH,
() CH3CH,CHCHO (d) CH3C|:CHO
Gy o
2-methylbutanal 2,2-dimethylpropanal

(@) mbromoaniline (or m-bromoaminobenzene)
(b) p-nitrophenol (or p-nitrohydroxybenzene)
(c) 2,4-dimethylbenzoic acid (d) 4-ethyl-2-methylchlorobenzene
(e) 2,3,5-trichlorobenzaldehyde
OH CH,
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